SEM
SIMPL KIDZ &= SIMPL
PREDPLACNISKI PAKET ZA OTROKE, : K I D Z

g KATERIM SO BREZ SKRBI TUDI STARST! PAKET ZA VSE, KI BODO

SPREMENILI SVET
0x1=0 0x2=0 0x3=0 0x4=0 0x5=0 0x6=0 0x7=0 0x8=0 0x9=0 O0xlo=0
1x1-1 1x2=2  1x3=3  1x4-4 1x5=5  1x6-6 1x7=7  1x8-8  1x9=9 1x10-10
2x1=2 2x2=4 2x3=6 2x4-=8 2x5=1o 2x6=12 2x7=14 2x8=16 2x9=18 2x10=20
3x1=3 3x2=6 3x3=9 3x4=12 3x5=15 3x6-18 3x7=21 3x8=24 3x9=27 3xlo=30
4x1=4 4x2-8 4x3=12 4x4=1e¢ 4x5=20 Y4x6=24 Y4x7=-28 Y4x8=32 4x9=36 Y4xlo0=40
5x1=5 5x2=10 5x3=1% 5x4=20 5x5=25 5x6=30 5x7=3% 5x8=40 5x9=45% 5xlo0=50
6x1=6 6x2-12 6x3=18 6x4=24 6x5=30 6x6=36 6xT=42 6x8=48 6x9=54 6x10=60
Tx1=7 Tx2=14 Tx3=21 Tx4=28 7x5=3% Tx6=42 Tx7=49 7x8=56 7x9=63 7xlo=70
8x1-8 8x2=16 8x3=24 8x4=32 8x5=40 8x6-=48 8x7-56 8x8-64 8x9=72 8xlo=80
9x1=9 9x2=18 9x3=27 9x4=36 9x5=45% 9x6=54 9x7=63 9x8=72 9x9=81 9x10=90

loxl=1o lox2=20 lox3=30 lox4=40 lox5=50 lox6=60 lox7=70 lox8=80 10x9=90 loxlo=100




